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Day 1 – Fractions of amounts. 

½ of 12. 

The denominator is 2 so I 
have shared between 2 
groups. 

The numerator is 1, so I will 
count how many are in 1 
group. 

There are 6 circles in 1 
group, so ½ of 12 is 6. 

Steps to Success 

1. The denominator 
(bottom number) 
tells you how many 
equal parts to share 
the number 
between. 

2. The numerator (top 
number) tells you 
how many equal 
parts to count. 

1/3 of 9 = 3 because… 

¼ of 8 = 2 because
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Day 1 – Fractions of amounts.

Task 1) 

Draw a bar model to work out 
the following fractions of 
amounts. 

½ of 10 = 

¼ of 16 = 

1/3 of 6 = 

½ of 20 = 

¼ of 12 = 

1/3 of 21 = 

Finding this a little tricky? Let’s focus on sharing amounts 
into halves. 
½ means 1 out of 2 equal groups so you need to share 
the objects into 2 equal and circle one of those groups. 

Now let’s try using sentences to explain our learning. 

Now use a bar model, to work out the following 
fractions of amounts: 

¼ of 4 = 
½ of 6 = 
½ of 8 = 

Finding this easy? Have a go at the 
challenges below.



2/3 of 9 = 6 because… 

3/4 of 8 = 6 because…

Day 2 – Fractions of amounts.  

Steps to Success

1. The denominator 
(bottom number) tells 
you how many equal 
parts to share the 
number between. 

2. The numerator (top 
number) tells you how 
many equal parts to 
count. 

2/3 of 12. 

The denominator is 3 so I 
have shared between 3 
groups. 

The numerator is 2, so I will 
count how many are in 2 
groups. 

There are 8 circles in 2 
groups, so 2/3 of 12 is 8. 
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Day 2- Fractions of amounts. 

Task 1) 

Use a bar model to work out the following 
fractions of amounts. 

2/3 of 15 = 

¾ of 20 = 

2/4 of 12 = 

1/3 of 21 = 

2/3 of 21 = 

Finding this a little tricky? Let’s stick to 
fractions with 1 as the numerator. 

Remember to draw a bar model like this 
one. 

¼ of 16 = 

½ of 20 = 

1/3 of 9 = 

½ of 14 = 

¼ of 20 =

Finding this easy? Have a go at the challenge 
below.



Day 3- Equivalent fractions

Today, I am not going to give you the steps to success. We’re going to do some 
exploring instead!  
Task 1 ) 

Now, work out the fractions below, using a bar model, and discuss with someone at 
home what you notice about the answers to the first and thirds question. 

½ of 16 = 
¼ of 16 = 
2/4 of 16 = 
½ of 8 = 

If you’re struggling with 
this, move on two 
pages. 



Day 3- equivalent fractions. 

Task 2) 

If 2/4 and ½ are the same, would ½ of 
12 and 2/4 of 8 be the same? 

Prove your answer with the bar models 
below. 

Challenges. 
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Day 3 – Equivalent fractions. 

Struggling with today’s lesson? Don’t worry we can look at this in a different way. 

Go and get 8 objects from your house. They could be toys, pencils, crisps. Anything you can 
find! Your grown up needs to get 8 objects as well. 

I want you to find one half of your objects. 

Grown ups, I want you to find two quarters of your objects! 

Now, each of you need to count how many you have. What do you notice about how many 
objects  you each have? 

Now have a go at this 

Remember, the top number tells you how many to shade.

The bottom number tells you how many parts there are. 

Tell your grown up what you notice about the two sides of the
table.  



Day 4 – Application 

Today, we’re going to use what we’ve learnt so far to solve the 
problems below. 


